(v) The speed of sound in soft tissue is 1500 m s”'. What is the wavelength of aultrasound wave

of frequency 3 MHz within the body?
...................................................................................................................................................... Qe fadasis pedlullar Gusn 1500 m s-1 @, o grd@er 3 MHz
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(iif)  Write down the Newton's third law of motion. Give two examplesto explain the action of the
law.
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(vi) Briefly discuss how energy is produced in the Sun.
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(iv) What would be the reading of the balance (in kg)from where the 6 kg mass is hung?
6 kg sremL Qgrrisal Lul L §)L A0 @mibg Fwplansoulls surdliiy (kg) (vil) Arrange the following electromagnetic radiations in the order of increasing wavelengths.
Visible light, Ultra-violet (UV), radio wave. Infra-red (IR) and X-rays.
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Will that reading be the same it the mass is partially
submerged? Explain your answer.
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(viii) What causes the lightning?
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Buoyant force
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(ix) The pH value of three liquid samplesare A= 2. B:: 1l and C - : 7. Fill the table using correct
sample.
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~ Base sample | Neutral sample Acid sample |
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(x) One of the fundamental photo-chemical reactions necessary for life on Earth is photosynthesis. In

this process plants use A, B and C. Identify the A, B and C.
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[ 40 marks for this part]
PART B

(Answer three questions only)

01. Define the total internal reflection and give it in terms of refractive index ot the medium.
Briefly explain the formation of mirage and its feature. [20 marks)
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02. Explain what you understand by the term humidity. How this is related to an airconditioned
roomwith temperature is less than room temperature. 20 marks)
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03. Briefly discuss thestructure of a soap molecule and and the action when soap is removing an
oil patch. [20 marks)
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04. Explain the difference between baking soda and yeast in terms of their composition and
action.
[20 marks)
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PART-A
(Answer all questions)

(i) The length of the adjacent sides of a right angle triangular-shape land is 40 m and 25 m
respectively.Leaving 3 m open for a gate and fixing S lines of barb wires what is what is
the total length of the barb wires that must be used?
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(i)  Find the area of the sectionof a disc shown in the figure.

(You may userr = 3.14 rad = 180°)
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